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Question 1- Find the simple interest on a su“@ at
@r annum in 5 years.

T4 1- 12,000 &9 hT TIRT 9T 5 991 § 20% 9id oY i X E
TN SATST T ShiToTg

o (30
%‘—— 09 XS *
= Jovy A.Rs 10,000
B7Rs 12,000
C.Rs 14,000
D.Rs 15,000

E. None of these
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Question 2- A certain amount earns simple interest of Rs. 2050

after 5 years. Had the interest been 2% more, how much more

o5 O
5 % ¥02 > interest would it have earned ?

/;é{’“% Lo T4 2- T I TR 5 96T o 76 2050 T2 b1 ARV AT
AT HTl Bl TS SATST 2% STk BT, o 3T T fohaAT eIk

B SATST JTH BT
A. Rs 45
30 B. Rs 50
C. Rs 54
—Pcant be determined
E. None of these
/fn‘-“f ’ ¥ =
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R 0/ — 39 Question 3- A certain sum of money becomes doublesof itself
» R

in 4 years at a certain rate of simple interest. Find the simple

17%/: / )% / /’hﬁnterest on Rs 12,000with same rate of interest

T 3- HTROT SATST shl Ueh THEd a0 X Uk Hiyd gauisr 4 awi o
/Ocl(: {5/ S ST 21 12,000 F93 0 HA 21 < o6 6o 3 o A
HTLTOT SATST T shiTST|

T%”]M)H = TS/ g{ [Roog 30 A.Rs 8000

" B-Ks 9000
= JoOOR C.Rs 3000
D.Rs 4000

E. None of these
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Question 4- A man divided his money in two parts such that
simple interest on first part at 12% per annum for 3 years 1s
equal to the simple interest on other part at 15% per annum for

4 years are equal. In what ratio man divided his money.

Ueh Sth 3T & 3l &1 YT H $9 JehTL foeT]

~ o N
SHEEAGIRAER RN

YT 9T 3 91 ok T9T 12% Jfd IS <Al T 9 GTERT SATST 37T 97T 9T

4 31 o T 15% Tl Y oAl & | ETEROT SATST o Sei 2 HT o

30
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Question 5- A man divided his money in two parts such that

amount on first part at 10% per annum for 2 years is equal to

the amount on other part at 5% per annum for 3 years are

e |5 equal. In which ratio man divided his money.
Ueh Sk Y & Skl 2 YT H 39 JehR farierd shtar @ for 1=

T O 2 991 oh T4, 10% 9 a9 shl g § T3, 3 991 o 7T 5%
Tfd Y shT 2T H 37T 9T <hT ST oh e B @Wﬁm
379 & ki forTfora shear 21 B 24:23

C.12:17

ﬁHjO: :% D.17:19

E. None of these
https /1t. me/mathbytarunsnmepl
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-
?)i & } Question 6- A certain sum of money becomes Rségy(y))O In 2 years
(%\ Q/B and Rs 6000 in 5 years. Find the principal and rate of interest per
Q// annum.
T4 6- Teh TATErd emafaT 2 at 7 4800 TR TR 5 I91 § 6000 €9 &
‘Q N HTe ST SATS T 1A shifstl
yZ)"> %L/&OO ?: L’@OO~&OQ
5 @) Pz HG _ARs 4000, 10%
i 600 0c B. Rs 4000, 20%
33(: 2R R IS }m 490 _X(9¢, 30 C.Rs 4000, 12%
| > . <o % D.Rs 4000, 15%
X o N E. None of th
QV%:&)Q . None of these
~ A




SBI CLERK 2023 (SITYR o)
&Y oot
(D /cggp Question 7- A person borrowed some money at the rat

Lfﬁ 0 L=A|63p-a. for the'tirst three years)y9% p.a. for the next five years and

%9 = Lé%%O 13% p.a. for the period beyond eight years. If the total interest
JQQ ?Tl gid by him at the erd of eleven yeaxs 1s Rs\ 16320, how much
A.Rs 10,000

money did he borrow*

" PI60XI0O 5. o3 et v et s o, 94 e, st ot
CRS16,000 P=F(¢ o forwr 99, it o 3t 377 7 & atferer o1 avafer 3 o7 1305 e

gl




https://t.me/mathbytarunsirmepl

\




SBI CLERK 2023 (3TIIR o )

=
@ Question 8- A person lent some money at 9% per annum

@ ﬁ,{:;o simple interest and equal amount of money at 10% per annum
simple interest for 2 years. If the total interest was Rs 7600.
S I(I) = (¢ Then find the principal.

. 50w 8- U Safth A T GIRT 9% aTfieh LT ST W AR FHH
SLQJ):ZO : TR 10% SR BTET SATST T 2 [ o [elT SUM 2| SR e
SIS 7600 &9 <] TR TS89t 31 T <FII8 - AL 17,000

3@ % 160 O B. 18,000

=200 C. 19,000

|0y < 200X (003 __D-20,000
= ‘f m E. None of these
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‘? Question 10- A sum of Rs 10,000 is lent out partly at 6% and
remaining at 10% per annum simple interest. If overall yearly
s interest 1s 9.2% then find the sum given at 10%.
®G 10,000 FII AT TR T IR €T H 6% T 3T I 10% i a9
© | SATS] O SR (&1 ST 2| Al el TN SATS 9.2% €, 1 &
\ 3_2/ T TMRT 10% T 1A shifSTg) .
E
0! e 1= ooty —B~Rs 8000
SR =3 C.Rs 6000
| - - _—30
< 4 \a5=%looog | D.Rs 4000
| :/:{20% E. None of these
’jzﬁ; ' i (R




SBI CLERK 2023 (SITHYR dd )
Question 10- A person takes a loan at12% pex annum simple
interest. After 3 years he pays Rt. Find the

@ 56" / J _-{,- SlioG money taken by him as loan.
0

T 10- Teh ATk 12% T I HTLROT SATST 9T 3R0T AdT 21 3 991 oh
/72: 5400 S1E 98 SATS] o &9 H 5400 T 3T HIATH LT 2] 38k ZHT R0 6

Goge % &Y H ol T8 G 1 HiNy

O ®
00} Sk VTS A.Rs 12,000
%_q, 20 B Rs 15,000
:,< \%OC)Q C.Rs 10,000
D.Rs 14,000

E. None of these
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A Question 11- A certain sum of money becomes doubles of itself

Ches
o\ A\ % in 4 years. In how much time with same rate of simple interest it
\ 0%

4 becomes 5 times of itself.

\
1 11- Ueh T8I SFRIIRT 4 ST H ST 379 QAT &1 ST | |remoT
SYTS] ohl AT &L | fohid €HT W I8 37U 319 I 5 71 &1 STl 272

L( .
@ ig %
A. 10 years

1 @ - 30 B. 20 years
S C. 15 years
T: L[)(H D.25 years
= ( 6‘3(~ —E. None of these
——
’jzﬁ; ' i (R
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Question 12- A certain sum of money amount to Rs 850 in 3

years and Rs 925 in 4 years. Find the sum.

T 12- Ueh S 9=wfsr 3 a8t § 850 €94 37K 4 991 § 925 &9 &
wﬁ%mﬁTWW|

(3 h— T850 _{;;WWL .
H%\v 1 2‘3) —B-Rs 625
3"(}\& T5K3 C.Rs 700
=I5 D.Rs 800
P: §Ro - )16 E. None of these
SRS




30

A.Rs 700
B. Rs 800
C.Rs 200
D.Rs 900

EMhese @

SBI CLERK 2023 (3TIIR o )

Question 13- A person borrowed Rs 20,000 at 10% per annum
simple interest for 3 years. He immediately lends it to another
person with 14% per annum simple interest for 2 years. Find

gain 1n transaction.

T3 13- Ueh Ah o 3 A1 ob AT 10% Tl oY GTEMROT ST 9T
20,000 &9 IR [o7T| I A 3 2 =TH[ h TeTT 14% Tid a9 Hremer
SITST oh W1 G ofh ohl ST AT 8| - H ST JTH il

$1 Igt= 30"/b (g;Qooeﬁ_
(1, L\ 6o :
Uﬁ\dt%&%qﬂm\ n 4o _,LQ_L%;




A.Rs 12,0067

B.Rs 20,000
C.Rs 10,000
D.Rs 15,000
E. None of these

SBI CLERK 2023 (3ITYR &4 ) f
Question \25- The simple interest of a suss than
the sum. If rate is 15% per annum and time 155 years. Then find

the sum.  SX3 //&
o1 - @T@Twwwmrﬁﬁmoomw%mﬁa
15% It 99 & TR 98 5 99 =) fust ufsr 3ma shifsy

St
| 57 = 5_7 «QP >l PZ—“QO X600
O\>]3 \g _LS :‘t \%OOO
0=V 800 | —3p)
| =<60q
4 o
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